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Time Domain Specification 2
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* Inasecond-order control system, time domain specifications refer to
performance characteristics of the system’s response to a unit step input.
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Time Delay

WwWw.snsgroups.com

Allowable tolerance

Time Delay, t4:

It is the time required for
the response y(t) to reach
half of the final value.
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Rise Time
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‘y(t) Allowable tolerance Rise Time, L.

It is the time required for
the response to rise from:

@ 0% to 100% of its final
value for the
under-damped system.

o 10% to 90% of its final
value for the
over-damped system.
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Peak Time
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Peak Time, t,:

It is the time required for
the response to reach the
first peak of the overshoot.
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Maximum Overshoot

Allowable tolerance

Y
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Maximum Overshoot, M,:

It is the maximum peak
value of the response curve
measured from unity.




Settling Time
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Settling Time, t,:

005 It is the time required for
or  the response curve to reach
002 and stay within a range
about the final value of
size specified by absolute
percentage of the final value

(usually 2% or 5%).
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k=l (i, 2% criterion

b =3/l wa 5% criterion
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